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HNCMS3 Unit 7: Circles- A Geometric Perspective Name: \/ \\%—\
Review Packet -

Vocabulary

Given the figure, what name applies to each of the following:
a)

b)

c)

N2

J
Arcs, Angles, and Segments Practice: Find the value of each variable. Assume that lines that appear to be
tangent are tangent.
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§ Arc Length and Area of a Sector.

20. Given a circle with radius 10, what is the arc length and area of a sector having an arc of: o ' ;
a) 90° b) 72° c) 180° d) 216°
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21.In acircle with radius 2, a sector has an area m. What is the arc length of the sector? ‘
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22. What is the radius of a circle (in degrees) if the length of a 45° arc is 37? }
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Applications. X ;

23. A green on a golf course is in the shape of a circle. A golf ball is 8 feet from the edge of the green and 28
feet from a point of tangency as shown. Assume that the green is flat.
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a. What is the radius of the green? =~ <"

b. How far is the golf ball from the cup/hole at the center of the green?
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24. On a certain vehicle, one windshield wiper is 60 cm long, and is afixed to a swing arm which is 72 ¢cm long F
from pivot point to wiper-blade tip. If the swing arm turns through 105°, what area of the windshield, to the [L

nearest square centimeter, is swept by the wiper blade? Draw a Picture. (Hint: Large circle has radius 72, Small
Q ol

= 16D
% .r“’(t_@a _ _E%{)):W@R

=¥ - 3\%
= YA MoprP

circle has radius 12). o
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Multiple Choice:

25.Find the measure of BD

26.Find the area of the shaded region.
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28.Find the length of segment FH.
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29. What is the measure of arc ACB? 30.Find mGH.
G
280° a. 25°
200° ot b 35°
160° F W 70°
80° 105°

35°
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31. KM and JM are tangent to
circle L. What is the length of M.
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‘ 60 cm

. \\a+[d)3 :m“%a

allcm
b.59 cm
c.60cm

1cm

32. Find the arc length,

52.4m
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